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#include < io.h>
#include < lib.h>

// Source: https://stackoverflow.com/questions/5580761/why—-use-double-indirection-or-why-use-pointers—-to-pointers

void pl(intx p) {
p = (int %) malloc(sizeof(int));
xp = 10;

LooNOOULAEWNERE

}

void p2(int*kx p) {
*p = (int %) malloc(sizeof(int));
*kxp = 10;

}

int main()

{
intx p = NULL;
pl(p);
printf("sd\n", *p);

p2(&p);
printf("sd\n", *p);

'free(p);

return 0;




#include <stdlib.h>

/%
Source: Example
%/

void swap(int paral, int para2) {
int tmp = paral;
paral para2;
para2 pa-Pei®

}

void second_swap(intx paral, intx para2) {
int tmp = *paral;
xparal = xpara2;

*xpara2 = tmp;

}

int main() {
int first = 0;
int second = 10;

}
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ficc =
FLAGS

gcc
= -std=c99 -Werror

all: filel

filel: filel.c
>>${GCC} ${FLAGS} -0 filel filel.c

clean:
>>rm -f filel
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